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h =6.63 x 10734 Js

e=1.6x10"19C
By = 4m x 107" Tm A1
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1
e, = 9% 109 N m2 C2
TESO

gIg 1 GeFHM (m,) = 9.1 x 10731 kg

L 1 gFHH = 1.675 x 10727 kg
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Read the following instructions very carefully and follow them :

General Instructions :

(1) This question paper contains 35 questions. All questions are

compulsory.

(it) Question paper is divided into FIVE sections — Section A, B, C, D

and E.

(i11) In section — A : question number 1 to 18 are Multiple Choice (MCQ) type

questions carrying 1 mark each.

(iv) In section — B : question number 19 to 25 are Short Answer-1 (SA-1) type

questions carrying 2 marks each.

(v) In section — C : question number 26 to 30 are Short Answer-2 (SA-2) type

questions carrying 3 marks each.

(vi) In section — D : question number 31 to 33 are Long Answer (LA) type

questions carrying § marks each.

(vit) In section — E : question number 34 and 35 are case-based questions

carrying 4 marks each.

(viit) There is no overall choice. However, an internal choice has been provided

in 2 questions in Section — B, 2 questions in Section — C, 3 questions in

Section — D and 2 questions in Section — E.
(ix) Use of calculators is NOT allowed.

c=3x 108 m/s

h =6.63 x 10734 Js
e=16x1019C

o = 47 x 10" Tm A1

gy = 8.854 x 10712 C2 N-1 m~2

1
T =9 x 109 Nm?2 (C2
RSO

Mass of electron (m_) = 9.1 x 103l kg

Mass of neutron = 1.675 x 1027 kg

Mass of proton = 1.673 x 10727 kg

Avogadro’s number = 6.023 X 1023 per gram mole
Boltzmann constant = 1.38 x 10723 JK~!

55/5/2 I — | Page 3 of 24

P.T.O.


https://www.collegebatch.com/exams?utm_source=pdf

®collegebatch con

(=] =]
G

T UE -F
1. I 3TEY Q foreh o o6 g T IRIA & | 39 91 < Tohdl] T %hteh 1o STl Folad &
@ o ®
© o ®) 5%

2. QTR FHTR AR (S Sedsh 8 |aH e # SA 9T YeTled 2 &1 8 U gi 2 m gl
W § | Th AR 1 Al Tehleh TFaTg O GHY TR oh SHIVT A & -

(A) 4.5 x 107 Nm™, 37 (B) 4.5 x 1077 N/m, "fcrerten

(C) 9 x 107" N/m, Sfcersen (D) 9 x 107 N/m, 37T
3. frafeifaa U o ferueht graehafietar gad STahret ol Jreehaficidr 8 &9 & ?

(A) HW (B) ueyfufm

(C) T FANSS (D) Trpe

4. 10 cm YT 9TcAl 1§ IR FUS! EH B i @@ 100 § frdt W@ b e
e 1 T/s F1 9fg 21 & B, & oetad feud B | 38 Fueeh § IR emf B
@A) 0.1V B) 05V
(C) 0.75V D) 1.0V

5. e S % Tl v i et (1) 3 fere ) e <
&) KX-ﬁRﬁ<k§maﬁ<x%%ﬁaﬁ<7‘§w B) A ™ At ™ Mt~ Mgt
(©) x’iﬁﬁﬁﬁ>7\'ﬁwﬁﬁ>7\'@>}\' D) K <A e qa x’%&?ﬁaﬁ< kxﬁmﬁ

6. = o foreft Tfert smt & od =1 farfi o a1 & QU S 7 | 3Rt fefafed wown
TS BRTT ?
(i)  ToRSI T <hIvT qerehd,
i) Tkt =erg
A) () 3 (i) ST e A & |
B) (i) frrd e 8, W (i) Tedt 2 |
(C) () Fra & g, W (ii) 9@l 2 |
(D) (i) 3N (ii) AT TQd & |
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SECTION - A

A charge Q is placed at the centre of a cube. The electric flux through one
if its face is

@) g% ®) 6%0
©) 8%0 ) 3—%

Two long parallel wires kept 2 m apart carry 3A current each, in the same
direction. The force per unit length on one wire due to the other is

(A) 4.5 x 107 Nm™, attractive (B) 4.5 x 107" N/m, repulsive
(C) 9x 107" N/m, repulsive (D) 9 x 10~ N/m, attractive
Which of the following has its permeability less than that of free space ?
(A) Copper (B) Aluminium

(C) Copper chloride (D) Nickel

A square shaped coil of side 10 cm, having 100 turns is placed
perpendicular to a magnetic field which is increasing at 1 T/s. The
induced emf in the coil is

4) 0.1V B) 05V

(C) 0.75V D) 10V

Choose the correct option related to wavelengths (A) of different parts of
electromagnetic spectrum.

A) A <A <A

X-rays micro waves
B) A

> A > A
€)

visible X-rays radio waves
D) A

<A

radio waves visible

> A

micro waves

> A

visible X-rays

> A

. > A
radio wave micro waves

.. < . < . <
visible 7‘“m1cro waves ?”racho waves xx—rays

In a Young’s double-slit experiment, the screen is moved away from the
plane of the slits. What will be its effect on the following ?

(1) Angular separation of the fringes.

(1) Fringe-width.

(A) Both (1) and (11) remain constant.

(B) (1) remains constant, but (11) decreases.

(C) (1) remains constant, but (i1) increases.

(D) Both (1) and (i1) increase.

55/5/2 I — | Page 5 of 24 P.T.O.
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7. qareed ) % e wiet 6 3l B 8

A) he (B) he/r
(C) A/he (D) Ahle
8. UM HE&AT 64 31X 125 o Tl ATk o T Tl ST STUTT &Il &
64 4
A) 195 ® 5
© 2 ®) 1

9. Wp-nﬁﬁi%ﬁﬁﬁ@ﬁw
(A) e g gig et e |
(B) 319aTE 9T frd el 2 |
(C) Toremor um 3R 379eE e eHi fFa Tl 8 |
(D) Tereor ey @ fer Tadt 8, WReg STUaTE R §HT URISH o T0H g o sedl @ |

10. TTSEISH THIY % SR-ATed § Fohet Soiagia oh IR HA-T ol 3@ H ST T 7 |
39 HshHUT 1 UgATHT 598 Icafid wIeH 61 Sl S=ad grfl |

n=4
3 n=3
IT
! n=>2
v
n=1
I I1I
A I B) II (C) III D) IV

1. 3riv # Frieh fas (V) 335 oter s e e & | 7t 2, 3 faamoit 1 o &

St el I B wehTeT forgd I ohid & | 38 Y@ Y JavT
VO N

A

> | =

v

B
h h?
@) b ® © O
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7. The energy of a photon of wavelength A is 1
(A) hca (B) hc/A
(C) Mhe (D) Ah/c
8. The ratio of the nuclear densities of two nucleil having mass numbers 64
and 125 is 1
64 4
A) 195 ® 3
5
© 3 D) 1
9. During the formation of a p-n junction. 1

(A) diffusion current keeps increasing.

(B) drift current remains constant.

(C) both the diffusion current and drift current remain constant.

(D) diffusion current remains almost constant but drift current increases
till both currents become equal.

10. The diagram shows four energy level of an electron in Bohr model of
hydrogen atom. Identify the transition in which the emitted photon will

have the highest energy. 4 1
n =
3 n=3
11
- n=2
v
n=1
I I1I
A) 1 B) 1II (C) 1III D) 1V

: i 1 .
11. Figure shows a plot of stopping potential (V) versus % where A is the

wavelength of the radiation causing photoelectric emission from a surface.

The slope \(])f the line i1s equal to 1
0 N
A
s 1
B -y
h hc hZc
A) b ®) 3 © - D) "2
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(A) oI IeE T
(B) =i gt |
(C) <1 Aol TS o1 e & I19el |

(D) <<k 19 A bl 18R o F1e St §

13. 1S 31Tey e fohet AC dieedt dia & ki & Taifsra 2 | afwy 3§ gm
(A) el ¥ SeedTd 1 TR |
(B) HeATH dicedl & 1 IWE R |
(C) hefl H Seedl 8 /2 3 |
(D) el 3 Slieeal & n/2 799 B

14. T faga o 1R fdiees qifirent w1 smRm
(A) 3T 3N I3 el femefi A a9 B 2 |
B) 31 feun & srfrman 3R uva fem A @ B@T 2 |
(C) swfemuse SRy femisRIga g |
(D) 3 fewn 1 Bier 3k gee fean A srer @aT 2 |

15. ETgSIeH THTY] % SR Higel H nal sheat o Breen fmforfaa § @ fopaeh srafees g 8 2

@) n? ® -

© n O +
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12. The capacitors, each of 4 uF are to be connected in such a way that the

effective capacitance of the combination is 6 pF. This can be achieved by
connecting 1

(A) All three in parallel
(B) All three in series

(C) Two of them connected in series and the combination in parallel to
the third.

(D) Two of them connected in parallel and the combination in series to
the third.

13. An ideal inductor is connected across an AC source of voltage. The current
in the circuit 1

(A) 1is ahead of the voltage in phase by =.
(B) lags voltage in phase by =.

(C) 1is ahead of voltage in phase by /2.
(D) lags voltage in phase by n/2.

14. According to Huygens principle, the amplitude of secondary wavelets is 1
(A) equal in both the forward and the backward directions.

(B) maximum in the forward direction and zero in the backward
direction.

(C) large in the forward direction and small in the backward direction.

(D) small in the forward direction and large in the backward direction.

15. The radius of the ntk orbit in Bohr model of hydrogen atom is proportional

to 1
@) n? ®
© n O =+

55/5/2 I — | Page 9 of 24 P.T.O.
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(A) IANHAA (A) 3R HRT (R) THI T & 3R HROT (R), MRS (A) 1 T AR
2|
(B) IAMHAA (A) 3R BT (R) THI I & 3K HROT (R), MBS (A) 1 Tt SR
e
(C) YA (A) T 8 3T HRT (R) 36T 3§ |

(D) TR (A) 3ET & T HRT (R) i 3@ 2 |

16. 3R (A) : fogaulet & afva staua s g g |
HRT (R) : Tereft foratreft < TRaTo] § HISehdl Soidgi 11Heh T2 9gd haehl 89 ald
7|

17. e (A) : fou 7w Jeash ° A 37 B & o9 qea ufeie 2R 2 |
HIT (R) : Tt Ufcrrerss uee | St © |

ZR
———AA—————
2R 2R
Ao——«AN\,—QR —AAN AMAA B

AAA
2R

18. ANHYF (A) : T« fohelt GRISTE 9T 1 T Fraehd &1 hi e o Traad arar & al 39
W HTERA fa8Tes sot-31mepl T BT B |

SR (R) : et gracbra & B § gl st @ 3 wren ot i fordes aret- e
ﬁﬁﬁwa@w(ﬁgw)%%l
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Note: In question number 16 to 18 two statements are given — one labelled
Assertion (A) and the other labelled Reason (R). Select the correct
answer to these questions from the codes (a), (b), (c) and (d) as given

below :

(A) Both Assertion (A) and Reason (R) are true and (R) is the
correct explanation of (A).

(B) Both Assertion (A) and Reason (R) are true and (R) is NOT the
correct explanation of (A).

(C) Assertion (A) is true and Reason (R) is false.

(D) Assertion (A) is false and Reason (R) is also false.

16. Assertion (A) : In insulators, the forbidden gap is very large. 1
Reason (R) : The valence electrons in an atom of an insulator are very

tightly bound to the nucleus.

17. Assertion (A) : The equivalent resistance between points A and B in the

given network is 2R. 1

Reason (R) : All the resistors are connected in parallel

2R
————AA————
2R 2R
Ao——fvzvﬁ/v——'vvw AAAA *B

AN
2R

18. Assertion (A) : The deflecting torque acting on a current carrying loop is

zero when its plane is perpendicular to the direction of magnetic
field. 1

Reason (R) : The deflecting torque acting on a loop of magnetic moment

m in a magnetic field B is given by the dot product of m and B.

55/5/2 I — | Page 11 of 24 P.T.O.
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ITAT UTh ARG I | 3T & =1 3 Hifce e TiiehT 51t (a) ARy 3R
(b) SRy 2 |

20. (a) Tort soiae @ Hag ¢ Sl qUTesd fopd TR TuTfed Bt 8, Sie
() SAR[HRIAT AT S ? qAT
(i) R faadIfgad g ?
3T ST HT g HfT |

2raT
(b) foreft fem e errer Gomet gs % fore fdieft fovrar & fopm wepm aftard 2 afe
(i) 3t faferRtr shi T § gig S ST ? 3R
()  3rmfad ferfertor 6t diear 0w & ST ?
319 I gy S |

91. TR FrE F A Fow ST R A FreeeeE R 6 T
H1f 3i e Feried whe e | 5 R s 3 a3 frfa |

22. %@m@(ﬁ)wﬁéﬁw%@a%ﬁw%%(ﬁ)ﬁ@% | &= 4 fo=ma
() o |1 35 T Yo T HRIA SeT- T (1) % Tereror =1 7T g gwifsy |
7 fa=me sma Shif fes aet- 31T (1) (i) I 3R (i) SAThan 2 |

23. (a) TR 87 BH ATV Y TRAE FRT q T BN W AR I b A
fAfET | 59 =1 1 TRHATT e Sfhad 21 2 ? AZ L fh U HI g ¥, W T,
Toh T ohid AT 36 o g 36 T IS h1l T&! ka1 JTaT 2 |
YT
(b) Torell o/l TR AB & I3 91 [ YalTled 81 @l 2 | 39 q1 s =R g d TR §&mH
m 37 AT q T IS HUT ITRG H TNT AR T (V) ¥ THE & | 39 0T gRI
39S TohT ST aTet oIt o ToTT Seeh T ShifoTe 371 36eh! femT w1 Seor@ it |
B

14

.
<

d

<l <—Y—e

A
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SECTION - B

19. Draw a graph showing the variation of potential energy of a pair of
nucleons as a function of their separation. Indicate the region in which
the nuclear force is (a) attractive and (b) repulsive. 2

20. (a) How will the De Broglie wavelength associated with an electron be
affected when the (1) velocity of the electron decreases ? and
(i1) accelerating potential is increased ? Justify your answer. 2
OR
(b) How would the stopping potential for a given photosensitive surface
change if (1) the frequency of the incident radiation were increased ?
and (i1) the intensity of incident radiation were decreased ? Justify
your answer. 2

21. Identify the electromagnetic radiation and write its wavelength range,
which is used to kill germs in water purifier. Name the two sources of
these radiations. 2

22. An electric dipole of dipole moment (p)is kept in a uniform electric field E
Show graphically the variation of torque acting on the dipole (t) with its
orientation (0) in the field. Find the orientation in which torque is (1) zero
and (11) maximum. 2

23. (a) Write the expression for the Lorentz force on a particle of charge q
9

moving with a velocity V in a magnetic field B. When is the

magnitude of this force maximum ? Show that no work is done by

this force on the particle during its motion from a point ?1 to point ?2 i 2

OR
(b) A long straight wire AB carries a current I. A particle (mass m and
charge q) moves with a velocity ¥, parallel to the wire, at a distance
d from it as shown in the figure. Obtain the expression for the force
experienced by the particle and mention its directions. 2

B

—
N
Cd

Particle

55/5/2 I — | Page 13 of 24 P.T.O.
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oI T L e S, ot ST9aTg o 3R 9T Scd O 9T Y9TE BT 7 319 I i g
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25. QI FUSIT C, 3T C,, %l Toh GHL % I Hehe T@1 T 3 | 3TR@ ¥ G SFHR Fusal
C, H vaTfed 9w 1, % |19 Fusell C, § g graehid Tl ¢, fo=ror il § | 9
Hif -

(I)2 (Wb)/
15 1

rd

10 A

5_

0 : : —> 1, (4)
o 4 6

() 39 SHIEYT T I YT, 3R
dI
(i) C,%USell § 100 VI emfﬁﬁﬁﬂ?@ﬁ;mmqﬁaﬁqgﬁa(d_;)

gug - T

26. (a) 3TUEGHE ‘< TeRel AT H H=R0T HIAT i THAA d0TH FRe THAS I8 W
T 10T (i) ST BT ST AT 8 | T 1y (Wy > ) STTACI o TohET AT
T Yo HIATR |
fadiarer TifirenT <1 BTET T 1 3TN Hish 3TUaldd diiehT WIRT | 39 YR
T o AU o T30 =T T i |
AYAT

(b) TSI T T ITAN Hih I GUTSY b hIg qUT fhdll I8 ¥ fhE TR TE(dd
B 2 | 39 YRR UUEaE o T-RIT o1 ST it |
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24. A potential difference (V) is applied across a conductor of length ‘I and

cross-sectional area ‘A’.

How will the drift velocity of electrons and the current density be affected
if another identical conductor of the same material were connected in
series with the first conductor ? Justify your answers. 2

25. Two coils C; and C, are placed close to each other. The magnetic flux ¢,

linked with the coil C, varies with the current I, flowing in coil C,, as

shown in the figure. Find 2
(I)2 (Wb) A
15 -
10 A
5 E
0 . . . > 1, (A)
2 4 6
(1) the mutual inductance of the arrangement, and
dI,;
(1) the rate of change of current at that will induce an emf of 100 V
in coil C,,
SECTION - C

26. (a) A plane wave-front propagating in a medium of refractive index ‘p;’
is incident on a plane surface making an angle of incidence (). It

enters into a medium of refractive index p, (1, > p,).

Use Huygen’s construction of secondary wavelets to trace the
retracted wave-front. Hence verify Snell’s law of refraction. 3

OR

(b) Using Huygen’s construction, show how a plane wave is reflected
from a surface. Hence verify the law of reflection. 3

55/5/2 I — | Page 15 of 24 P.T.O.
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27. & fereht puget o BRI @1 *REY 100 V &1 DC St & T fopan Sram & a1 399 1A
YT yaTtEd Bt 2 | A DC S 1 100 rad ! 3R 3R 100 VH AC §d |
TfereTiue st feam STTar & a1 gy geeht 0.5 A T8 STl 2 | ST Shiforg
() ufy 6 ufdemen
(i) FHUSTH BT TR

(i) o 3TN el o s AR

28. Tondll el g ahHR < Srifires Fuech fomm N &, % 60 o forelt sererdt teed!
V1 S1gug foham man 7 | gwehl feefioes poecht fomm N e, | 9fd dieedt V, %
ToTu =3Teh T SHIfTT | ardfereh SFEhiE H 81M o1t gl e &7 b1 Seoid <hifoT |

29. (a) TRl 91 FHUSTH TeaHHISK ! G GUTEAT § dhg FhH JHR h ST Tehell &, TEH]
T T i HIT |
(b) S Treamiet I, am o fore qof Gemm fogur gwriar @ | g8 (0 — V) iR %
AieeHiet ¥ aREfdd i % foTg Sfele R, 31 @@ (0 — 2V) IRER % dieeHtet |
aftafda & % forg Sfekig R, 1 STeaehdl 21t @ | 39 e Hiet &1 Sk 1
HIT |

30. (a) (i) YCT®IE o TTHIY] Hige h! T feAfEm |
(i) ETIEISH TergH <hT ST Avft Y gEdt ATeH <l dTeed 4861 A 7 | 5 Aoft <y
UgA! TS <ht qlTeed aieford ST |
JAYAT
(b) () Tre b8 ¥ TRI-ToRa oS ot Tt fafeRtor st s | dfg TehTteh
ST o SAH TS Sroll bl JHTIId Ta1 hidl & | SAREAT ShiIfY |
(i) TTSZISH TXHTY oh YT Jaiferd STl | Ty 37eeer &1 JxsH 8 It
HIEl T IUART fohell ThT-Tae] hTe o1 Tohtfird i o ford Ium femam
ST 2 | SheTE w1 e fawa 5 V 8 | Shellg o SRI-%aid hi TUHT HIT |

@Us -9
31. (a) TorHl p-n I SIS & (1) 3T TEEA R (ii) T F=ET T V-1 AN 1
FALIT A o TTC IOy et i shifse | fepelt fafeterta s/Te w1 a&dft
V-1 arfiremerfores Eifw | = few e uel 1 98 1§ 9 Hif
(1) 31 Tef3reh e 1 TeTEReeh (STTITT) a8 3id: &9
(ii) uv= fefymer arEa J Yom dieedn
AYAT
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27. A current of 1A flows through a coil when it is connected across a DC
battery of 100 V. If DC battery is replaced by an AC source of 100 V and
angular frequency 100 rad s~1, the current reduces to 0.5 A. Find
(1) 1mpedance of the circuit.

(i1) self-inductance of coil.
(111) phase difference between the voltage and the current. 3

28. The primary coil having Np turns of an ideal transformer is supplied with
an alternating voltage Vp. Obtain an expression for the voltage V_ induced
in its secondary coil having N_ turns. Mention two main sources of power
loss in real transformers. 3

29. (a) Briefly describe how the current sensitivity of a moving coil
galvanometer can be increased.
(b) A galvanometer shows full scale deflection for current Ig. A resistance

R, is required to convert it into a voltmeter of range (0 — V) and a
resistance R, to convert it into a voltmeter of range (0 — 2V). Find the
resistance of the galvanometer. 3

30. (a) (1) Write the limitations of Rutherford’s model of atom.

(1) The wavelength of the second line of the Balmer series in the
hydrogen spectrum is 4861 A. Calculate the wavelength of the
first line of the same series. 3

OR
(b) (1) Increase in the intensity of the radiation causing photo-electric
emission from a surface, does not affect the maximum K.E. of
the photo electrons. Explain.

(1) The photon emitted during the de-excitation from the first
excited level to the ground state of hydrogen atom is used to
irradiate a photo cathode in which stopping potential is 5 V.
Calculate the work function of the cathode used. 3

SECTION -D
31. (a) Draw the circuit arrangement for studying V-I characteristics of a
p-n junction diode in (1) forward biasing and (il) reverse biasing.
Draw the typical V-I characteristics of a silicon diode. Describe
briefly the following terms : (1) minority carrier injection in forward
biasing and (i1) breakdown voltage in reverse biasing. 5

OR
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(b) Name two important processes involved in the formation of a p-n
junction diode. With the help of a circuit diagram, explain the
working of junction diode as a full wave rectifier. Draw its input and

output waveforms. State the characteristic property of a junction
diode that makes it suitable for rectification.

32. (@) (1) Draw a ray diagram to show the working of a compound
microscope. Obtain the expression for the total magnification for
the final image to be formed at the near point.

(1) In a compound microscope an object is placed at a distance of 1.5
cm from the objective of focal length 1.25 cm. If the eye-piece has
a focal length of 5 cm and the final image is formed at the near
point, find the magnifying power of the microscope.

OR

(b) (1) Draw aray diagram for the formation of image of an object by an
astronomical telescope, in normal adjustment. Obtain the
expression for its magnifying power.

(1) The magnifying power of an astronomical telescope in normal
adjustment is 2.9 and the objective and the eyepiece are
separated by a distance of 150 cm. Find the focal lengths of the
two lenses.

33. (a) (1) Explain how free electrons in a metal at constant temperature
attain an average velocity under the action of an electric field.
Hence obtain an expression for it.

(1) Consider two conducting wires A and B of the same diameter but
made of different materials joined in series across a battery. The
number density of electrons in A is 1.5 times that in B. Find the
ratio of drift velocity of electrons in wire A to that in wire B.

OR
(b) (1) A cell emf of (E) and internal resistance (r) is connected across a
variable load resistance (R). Draw plots showing the variation of
terminal voltage V with (1) R and (i1) the current (I) in the load.

(1) Three cells, each of emf E but internal resistances 2r, 3r and 6r
are connected in parallel across a resistor R.

Obtain expressions for (1) current flowing in the circuit, and
(11) the terminal potential difference across the equivalent cell.
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SECTION - E

Note : Questions number 34 and 35 are Case Study based questions.
Read the following paragraph and answer the questions.

34. A capacitor is a system of two conductors separated by an insulator. The
two conductors have equal and opposite charges with a potential
difference between them. The capacitance of a capacitor depends on the
geometrical configuration (shape, size and separation) of the system and
also on the nature of the insulator separating the two conductors. They
are used to store charges. Like resistors, capacitors can be arranged in
series or parallel or a combination of both to obtain desired value of

capacitance. 4
(1) Find the equivalent capacitance between points A and B in the given
diagram.
o
c " c C
A
C
|1
11
I
11
C

(1) A dielectric slab is inserted between the plates of a parallel plate
capacitor. The electric field between the plates decreases. Explain.

(111) A capacitor A of capacitance C, having charge Q is connected across
another uncharged capacitor B of capacitance 2C. Find an expression
for (a) the potential difference across the combination and (b) the
charge lost by capacitor A.

OR

(111) Two slabs of dielectric constants 2K and K fill the space between the
plates of a parallel plate capacitor of plate area A and plate
separation d as shown in figure. Find an expression for capacitance
of the system.

] A3} G —

2K K

2

e
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35. A lens is a transparent optical medium bounded by two surfaces; at least
one of which should be spherical. Considering image formation by a single
spherical surface successively at the two surfaces of a lens, lens maker’s
formula is obtained. It is useful to design lenses of desired focal length
using surfaces of suitable radii of curvature. This formula helps us obtain
a relation between u, v and f for a lens. Lenses form images of objects and
they are used in a number of optical devices, for example microscopes and

telescopes.

(1) An object AB is kept in front of a composite convex lens, as shown in

figure. Will the lens produce one image ? If not, explain.

(1) A real image of an object formed by a convex lens is observed on a
screen. If the screen is removed, will the image still be formed ?

Explain.

(111) A double convex lens is made of glass of refractive index 1.55 with
both faces of the same radius of curvature. Find the radius of

curvature required if focal length is 20 cm.
OR

(111) Two convex lenses A and B of focal lengths 15 cm and 10 cm
respectively are placed coaxially ‘d’ distance apart. A point object is
kept at a distance of 30 cm in front of lens A. Find the value of ‘d’ so

that the rays emerging from lens B are parallel to its principal axis.
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